
     

 
   

   
  

 

    
  

  
  

  
     



 
   

   
  

 

 
 

 
 

  

  
 
 

 
 
 

    

 
 

 
 

  

 
 

 
  

 

 
 

 
 

  

 
 

 
   

   
  

      
     
      
     

 

Item 
Position Item Type TEKS 

Alignment 

Maximum 
Number 
of Points 

Correct Answer(s) 

11 
Extended 

Constructed 
Response 

E2.5.B 5 

*A rubric is used to determine the score for an 
extended constructed response. 
A correct response could involve a student providing 
an extended response explaining how the poet wants 
to compare the freedom of a fox to that of a human 
being. The student would need to provide thorough 
evidence from the poem to support this thesis. 

12 
Short 

Constructed 
Response 

E2.9.C 1 

*A rubric is used to determine the score for a short 
constructed response. 
A correct response could be similar to the following: 
Cities that want to host the Winter or Summer Games 
must undergo a rigorous screening process. 

13 
Short 

Constructed 
Response 

E2.9.C 1 

*A rubric is used to determine the score for a short 
constructed response. 
A correct response could be similar to the following: 
It must also furnish an “Olympic village” that can 
house thousands of people and be able to provide 
reliable transportation and security. 

14 Inline Choice E2.9.Bi 1 In spite of this 
15 Inline Choice E2.9.C 1 abandoned 
16 Inline Choice E2.9.Di 1 are relatively inexpensive, costing just a little 
17 Inline Choice E2.9.Dv 1 election campaigning, which consists of 
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